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—SASMY DMl a2 DN US2E
=t 1002 «1, 30000 * 122 1,560
~HOIERE Iet™2ldl 450,000 #435] 122 21,600
03.2494¢ 2,030
M SES =3 10] AR 70,0002 %293 2,030
0O5. 2 2] 4,200
—SASMY D BRIEHARFT S 2|
7,000 «5H x 10 « 122 4,200




fA Hal
A ME@HIISMe ¥ NANEE(BLEES/HIIZS)
©el: MEHIISXASHELALEESIA)

_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
02 T2 17,113 15,379 1,734
O1.2222YHA 5,212
-BEFY SASMYI| Hela4E DA
UEOWR 270211,30021 ¥ 128 4,212
~SASMYD| 08I HEIY BEE
700,0002 *1CH 700
SSAISMYI| AHEI| HEIIY BANLS
= 150, 0002 *1CH*23) 300
O4. R s ety 11,901
~SAISMYI| AHBI| MIEIY
13,223,000 0.9 11,901
03 A2t 20,000 10,000 10,000
OZD2E UsHE #A 10,000,008 %23l 20,000
202 018 5,520 4,320 1,200
01 201 bl 5,520 4,320 1,200
OSA2 U WEEE =22+ YRFF 0ty
60, 00021 42 x32 x63] 4,320
OSH+SAMNE L2ER0 Y|
60,0002 x22§ x22 x5 1,200
206 T 2 bl 29,900 30,000 A100
01 T2t 29,900 30,000 A100
OFN |(12) 7Y 5,5002 *2, 000K € 11,000
oge(iL) 2 3,0002 %2, 5007 7,500
OPETH (300m2) 72 3202 x20,0007H 6,400
OENZ 23 (2002) 7 500,0002 * 10JH 5,000
301 B AS 8,064 8,064 0
10 S AFAIHI 2 A 2 8,064 8,064 0
OZEA EN2E F+DEMEH NAZAX 2
Al 7,0002! 42§ «1224» 12 4,032
O#=EIN HBSAX S4
7,00021 %42+ 1220 %122 4,082
307 21201 & 8,652,735 8,199,446 453,289
05 RI2t9IE2 8,652,735 8,199,446 453,289
OSASMYI| +T28 L Halbl 4,761,015
-2sxd 95,3702 %2, 200E 122 2,517,768
c=xg 55,7812 %1,200= %122 2,243,247
OZSZLUMEHIIS T2 $42
2,62221%105, 0004 CHi « 128 3,308,720
OMESHUHE 29 13
49,000,0002 122 588,000
405 X+ &HE St 35,000 10,000 25,000
01 L SEH S| 35,000 10,000 25,000
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fA Hal
A ME@HIISMe ¥ NANEE(BLEES/HIIZS)
el MEHIISHASHEALMGSELSNA)

_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
ONEEE =X (2.58) LAl
35,000,000 *1CH 35,000
&g 2els=HE 57,000 62,500 5,500
201 Et2dd| 57,000 62,500 25,500
01 AtR2tel 57,000 62,500 25,500
O1.d8t=ZH| 57,000
-ANE=2els=HE 57,000
HEgZs 22+=Hg 7¢
50, 000& *50H 2,500
THEES =88 #2 200,000 *50M E 10,000
THAMX &g F 30,0003 = 1504 4,500
SASMY DI S2+HED 2(1204 )
50,000 *800H 40,000
HEESE TBAZ (BEX) 166,700 166,700 0
L= 50,000
Al 116,700
301 getE a3 166,700 166,700 0
= 50,000
Al 116,700
12 J|Et2 a3 166,700 166,700 0
OMgEs =&8=24= 20,0003 +8,335& 166,700
= 50,000
Al 116,700
sEZNel & HUEsE243 XA(EX) 16,700 16,700 0
= 5,000
Al 11,700
301 et a3 16,700 16,700 0
= 5,000
Al 11,700
12 J|Et2 a3 16,700 16,700 0
OsZEgelEE HUlEE A=
100,000& *167& 16,700
= 5,000
Al 11,700
RFIDSASM Dl 22lAIAE 25 106,845 0 106,845
201 Et2Ad| 77,280 0 77,280
01 AtR2tel 60,000 0 60,000
O1.d8t=2H| 60,000
RFIDS S SASMdlJl =HEHl COMADL
2l 50,000& =1, 200CH 60,000
02 2324l 17,280 0 17,280
O1.22234HA 17,280
-SASMI SEH HE HEEH &I
= 1,200& *1,2000H = 12& 17,280
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fA Hal
A ME@HIISMe ¥ NANEE(BLEES/HIIZS)
el MEHIISHASHEALMGSELSNA)

SN EB -GS - MBAY - BES 0 & 24 e HRE2
301 LerE A 29,565 0 29,565
EBIEERE 29,565 0 29,565
ORFIDBS X SASMYI| STH Fatas
2 3021 *90kg 1, 200CH 2.5/ 100+365 29,565
SEFasASMY )| SYM =X 33,800 0 33,800
201 2Bre | 33,800 0 38,800
01 Ak 22l 33,800 0 33,800
O1.gsr+g4| 33,800
—HSFe SASMYD| STH SESYY
M= 10,000, 0002 10,000
—HExe SASMYIISZH AEMER
e 28,800
"51 4002 *3, 00004 62 7,200
"204 4002 *3, 00004 *6 2 7,200
" 60 4 400! +3,0000H 62 7,200
" 1204 40021 %3,0000H 62 7,200
ZHHLSHEAZ(2X) 5,600 0 5,600
= 5,600
301 LerE A 5,600 0 5,600
= 5,600
EBIEERE 5,600 0 5,600
OsZEHHIL+H2 4 35,0002+ 160 5,600
= 5,600
BHSAZH (2D (JIEHIIEH) 16,339,474 16,179,507 159,947
ol (HAASHSH) 16,166,584 16,035,707 130,877
= Aoz 2| 16,166,584 16,035,707 130,877
101 124t 16,166,584 16,035,707 130,877
03 RIHA2ZRE 16,166,584 16,035,707 130,877
O1.820/52 14,078, 159
-l=3 1,180,830% 3102 x 12 4,392,688
Jlgay 1,750,830 3102 x200% 1,085,515
-H24y 1,750, 83021 3102 * 180% 976,964
L] 1,750,830 «310% x300% 1,628,272
OtEay 237,336
U 40,0002 ¥3102 0. 78+ 128 116,064
" OIELE 20,0002 +3102 *1.48+ 122 110, 112
S UIHE (RO Ol 4)
50,0002 ¥31020.06* 128 11,160
-S4gnsy 90,0002 +310% 12 334,800
-RoiF LY 70,0002 +310% * 122 260,400
-Foug Al 160, 000! *310% * 122 595,200
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SN HAD
HE: HHEAZH (A (OIEHIIE)
Cel: QIARIH(HAMLSESSIA)

- (BH) - MEAY - B2 Abod e
-JtH & | 110,000 *310H x 123 409,200
-—WEE 4| 140,000& *310E x 123 520,800
-EEFOH| 1,750,830 *310 x150% 814,136
—ZHAH| 5,000& *x310E 222 x12& 409,200
-opR2fs4 33,5003 x30E x5 x 123 60,300
-Fe2RE 100,520 *310H x20! 623,224
-AXlRmasteg 67,0103 *x310% 20 415,462
-AESHIE RS 80,702

nssu 433,880& *310H +0. 15+43] 80,702
-EAadsE =Y 200,000 108 123 24,000
&3 3,500,000 10 *20E x1.5 ,050,000
-SZ 0N EE 43,0003 x310H 122 159,960

O2.JEtRIHLZ2 2 Xt 150,921

-G 2FA 26,628
DIR= 33,3103 12 +313Y 10,427
&0z 10,427,000 =14 *1/12x300% 2,607
YESIEl 10,427,000 «1H *1/12%120% 1,043

TRY2RRY 49,9703 x1H x 14 700
PN = 33,3103 x 1 »23 767
NETIEEEE
6,250 x1H x22 A1 2+ 128 1,650
ZHZAH| 80,0003 1 ~12& 960
eS| 100,000 x1H «12& 1,200
* JHHI 2 =8| 50,0003 x1ZE*12& 600
CItESY 1,320

* B S Xt 40,0003 x1HE 122 480

* J|EFILS 20,0003 1~ 12& 240

* SITHOF Of & 50,0003 1+ 12& 600

Fe=Y 33,3103 x 18 53 1,766

Hasg

10,427,000 * 19 *1/12x50%+23] 869

e 50,0003 18 +12& 600

2EItatE 33,3102« 1Z #1002 » 128 *50% 1,999

? M= 60,0003 »1Z *x23| 120
-Zcl& 84,484

2 28,2303 »4H »313L 35,344
&0z 736, 3403 43 »300% 8,837
HE S| 736,340 x4 3 x120% 3,535
TRYUIRY 42,3503 x4 H x14L 2,372
RPN, 28,2303 x4H x19 2,146
TAARZ2RE
5,300 x4 B #22 A| 24+ 123 5,597
ZAg A 80,0003 x4ZH x12& 3,840

_16_




A A0
HE: BHSAAY (HLD)(IIEHIIE)
Eel: QAL (EAAMLELESA)
SA BB CR(SH) - NRAY - A S Ol o e
W ESE A 100,000& x4 H « 122 4,800
JHHE =4I 50,0003 x4 H«12& 2,400
NE=E 4,080
* B < Xt 40,0002 x4 H « 128 1,920
* JIEHLS 20,0003 x4H «12& 960
* SITHOF Ol & 50,0003 x2H+12& 1,200
==Y 28,2303 x4 H +53L 5,985
2EIatE 28,2303 #4 B #4128 «50% 2,711
F2Y 8,836,000 x4 x1/12+40%+23] 2,357
M= 60,0003 4 x23| 480
-SSHEE 20,333
2 29,0103 »1H 313 9,081
o0= 9,081,000% x 1 x1/12%300% 2,271
THESIHI 9,081,0002 * 1 *1/12%120% 909
SPNEE=y 29,0102 x1H+182 523
RN
5,440« 1H #22 A1 2tx 128 1,437
ZHZ A 80,0003 x1E*12& 960
e 30,000 x1H«12& 360
* JFHI 2 =4I 50,000 x1H «12& 600
NE=E 1,200
* Ui < At 40,0003 x1E+12& 480
* JIEHLS 20,0003 38 122 720
T 29,0102 »1H +532 1,538
29 9,081,000& 1Y x1/12+50%+23] 757
IS 29,0103 x 1H #42 « 122 «50% 697
=Xzl 2t 19,476
IE—= 29,0103 12313 9,081
a0 9,081,000 12 x1/12+x300% 2,271
*YHEFIE 9,081,000 *1E «1/12%120% 909
RPN, 29,0102 x1H+17L 494
N2t 2R
5,440 « 1B +22 A 2tx 123 1,437
T MGAH| 80,000 x1H «12& 960
T WESE A 30,0003 x1E~12& 360
JHHI & 4| 50,0003 x1E«12& 600
&g 720
* B S Xt 40,0003 x1E*12& 480
* JIEHLS 20,0002 x1H«12& 240
FE=Y 29,010 »1H «532 1,538
29 9,081,000& * 1Y x1/12+50%+23] 757
2EIHAtE 29,0103 #1H #2128 «50% 349
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fA Hal
M HY2SZHI(FA)(OIEH/IIE)
Cel: QAR EH(HAANGSEESH) ? A
S FB SR (E) - NRAY - Be S e 2
O4.&2Z 01z Il=4 105,589
-&Yg= 90,0003 310 23] 55,800
-29 20,000& *310& 6,200
-QHE (OF2) 27| 20,0002 310 6,200
-ghetat 20,0002 310 6,200
== RPN 12,0003 *310H 23] 7,440
-Ot& 5t 50,000& *310& 15,500
-t HE 40,0002 504 2,000
-HE 2T 10,000 82H 820
-LEDAI(SIHR) 11,3003 +87H +43]« 128 5,429
Cell2Rgd=a & 282 1,831,915
203 Y TR
14,385,769,000 *4.50% 647,360
ABEES 14,385,769,000& »2.82% 405,679
-IEEEE 14,385,769,000& *1.30% 187,015
MHESE = 14,385,769,000% *40/1,000 575,431
LA RYEEE 405,679,000& *4.05% 16,430
SHI(HBAALEESIA) 172,890 143,820 29,070
N2ZH 56,910 54,120 2,790
201 L2 56,910 54,120 2,790
01 AtR2tel 54,030 51,240 2,790
ORAM2Z Let=EH| 5,650,000& 5,650
ORN2E HMADEH| 6,000,000 6,000
Ogal 33,380
-2 & 60,0003 x 1H 116 24 A& 13,920
=2 19,460
=R 50,0003 »1H *250 12,500
=< 60,000 x1H*116 6,960
ORN2E =SEl 9,000,000& 9,000
02 32&4H 2,880 2,880 0
ORNEE s52= 480,000& 480
Odstea 50,000 »4CH« 128 2,400
R0 110,880 84,480 26,400
202 044l 110,880 84,480 26,400
01 = LHAbI 110,880 84,480 26,400
OFQYUSFLAHHl 20,0003 42F 1L +123 110,880
2= 5,100 5,220 A 120
203 YR = Y| 5,100 5,220 A120
04 RFAN2EHRFEH 5,100 5,220 2120
ORN2ILRFAHI(HR:459) 5,100
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SN HADL
D3 HWHSAPH (HAD)(IEHIIEH
Sl Jl2 &

HI(HAAMSSE3IAH) (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- c S : ° TANANs o= =/ (0] AFQH 1L=ss
S 350,000 *122 4,200
-t 5,000 x15F «12& 900
Hests(HAn)(B8HES/HIIS) 1,139,580 1,376,395 A 236,815
HEAHHKES(E LML SESIA) 283,680 533,395 A249,715
JISHES 283,680 533,395 N249,715
2 JI=HES 283,680 533,395 N249,715
01 JISdEZ 283,680 533,395 A249,715
OHII2 MelA& FHESXY =X 283,680
-SESEE(NEs, 28 &al)
5,673,600,000& /2*10/100 283,680
BEXNE(HAMNAESLEZA) 855,900 843,000 12,900
Xt 20| Xhak gt 355,900 343,000 12,900
311 Xt SO0 Xratk & 355,900 343,000 12,900
04 SLERXL S0l Aot 74,400 93,000 A 18,600
OssMADIHEE Z4dAME
2,000, 000,000 *3.72% 74,400
06 JIEFXH S0l At&f &t 281,500 250,000 31,500
OMEHIIE HEMEE(HE L)AL EX
=\ 5,000,000, 000& *5.63% 281,500
s sats 500,000 500,000 0
601 XL =J=4e 500,000 500,000 0
04 SLEFEXNLSASL&E 500,000 500,000 0
OssMADIHEE Z4AME
125,000, 000& *43] 500,000
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